Economics: The Basics, 2e

Study Guide: Chapter 11

Learning Objectives

LO11-1 Identify key differences between the private sector and government.

LO11-2 Describe the short-term impacts of increased government spending and use the multiplier effect to calculate the effect of fiscal stimulus.

LO11-3 Summarize the limitations of using increased government spending to stimulate growth.

LO11-4 Discuss the ways that changes in tax rates affect the economy.

LO11-5 Explain how the budget deficit affects the economy in the short-run and in the long-run.

Outline

· Fiscal Policy is the economic effect of government spending, taxes, and debt in both the short and long run.
· The Government and the Economy
· Governments are under no pressure to be efficient or innovative, because they are not going to “go out of business” or lose their “customers.”
· The political system dictates government spending, not the economic system; government spending is funded through taxation or borrowing.
· Tools of Fiscal Policy

· Increase Government spending
· Fiscal stimulus is when the government increases spending and lowers taxes to stimulate the economy.
	Positives
	Negatives

	· An increase in government spending lowers unemployment and increases GDP, ceteris paribus.
· When the government increases spending, it increases the demand of labor and the demand of other goods and services.
	· Increases in government spending increases wages and prices in the short run.
· Suffers from big time lags; fiscal stimulus may end up being mistimed as a result.
· It can increase the budget deficit.
· It can cause crowding out problems.


· Lowering Taxes
	Positives
	Negatives

	· It can create jobs and increase GDP.
· Provides incentives to work and invest.

	· It can increase inflation.
· It can increase the budget deficit.
· It can cause crowding out problems.


· Increasing the Budget Deficit
	Positives
	Negatives

	· It can create jobs and increase GDP.

	· It can lead to higher interest rates and crowd out savings.
· In the long run, it can lower productivity and GDP growth.


· The Multiplier is the overall boost in the economic activity from a government spending increase.
· Marginal Propensity to Consume (MPC) is the portion that each household spends of each additional dollar they receive.
· On average, the poor typically have a higher MPC than the rich.
· The multiplier will be larger when government spending goes to those with high MPC.
· Overseas Leakage occurs when a fiscal stimulus leads to increased imports (the fiscal stimulus leaks to foreign markets).
· Borrowing

· Crowding Out: when the budget deficit increases, it raises interest rates; this inhibits private investment.
· Budget Deficit occurs when government spending exceeds revenues.
· Public Debt is the aggregate of the government’s borrowing.
Common Myths & Common Problems

· The budget deficit and the national debt are the same thing.

· No, they are different. The budget deficit only examines the shortfall between spending and revenue for a fiscal year, while the national debt is the total sum of all the debt owed by the nation.
· Why does government spending increase inflation?

· Government spending tends to increase the demand for labor by creating the need for more jobs, and increases the demand for goods and services. These effects increase wages and prices, respectively.
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· Isn’t arguing for a tax cut just ideological?
· No, they are useful tools of fiscal policy. By lowering taxes, people have more disposable income. This helps increase the demand for goods and services and increases GDP.
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Real World Applications from an Economist’s Perspective

In early 2008, the U.S. government issued tax rebate checks that acted as a one-time tax cut. The hope was that this form of a tax cut would help stimulate the economy. As your textbook notes, the implementation of the tax cut was quick and done in time for it to be effective.

Typically, tax cuts should help increase productivity and increase GDP. The question now is whether the rebate checks have achieved the desired effect.

According to Michael Mandel (on his blog at Businessweek.com), the June 2008 consumer spending numbers exceeded most economists’ expectations. It looks like the rebate checks worked, right?

Maybe not. Mandel argues that one reason for the robust numbers has to do with the fact that U.S. consumer spending numbers include foreign purchases of goods on U.S. websites. Mandel argues that, given the relative weakness of the dollar to other currencies and the better conditions of other economies, more foreigners are purchasing American products because they are relatively cheaper. More importantly, Mandel notes, “In fact, it might be possible that Americans are actually cutting back on their spending”.

What about the rebate checks? Wasn’t that tax cut supposed to increase demand for goods and increase GDP, like this?


What is implicitly understood with this analysis is that the increase in disposable income only increases demand if it increases consumption. That might not always be the case. If consumers spent their rebate check to pay down high interest credit cards, it does not stimulate the economy, because they are merely paying back a prior increase in consumption. If this is the case, then the tax multiplier (the increase in GDP from a dollar decrease in taxes) will be small. As of this writing and given limited data, it is too early to tell exactly what is occurring.
Now it’s Your Turn
1.  Discuss why people may be deterred from working more if there is a high progressive income tax (where tax rates increase as your income increases). Graph your answer as well.
2.  Discuss why government spending effects may be mistimed in fighting a recession. If government spending suffers from this problem, what alternatives have been used more recently?

3.  If you are interested in tracking the effects of the American Recovery and Reinvestment Act (ARRA), visit: http://www.recovery.gov/Pages/default.aspx.

Practice Quiz

1. Which of the following is not a tool of Fiscal Policy?

a. Government spending

b. Changing tax rates

c. Deficit Spending (Borrowing)

d. The Federal Reserve

2. Government spending is set:

a. By a market system.

b. By the Chairman of the Federal Reserve.

c. By the political system.

d. By the Senate Finance Committee.

3. An increase in taxes will:

a. Decrease unemployment and increase GDP.

b. Increase unemployment and increase GDP.

c. Increase unemployment and decrease GDP.

d. Decrease unemployment and decrease GDP.

4. Who will have the largest marginal propensity to consume?

a. Bill Gates

b. The upper middle class

c. The poor

d. They will all have the same marginal propensity to consume.

5. Which of the following may shrink the multiplier effect?

a. Fiscal Policy

b. Overseas leakage

c. Cutting taxes

d. Fiscal stimulus

6. Which of the following is a negative aspect of government spending?

a. A decrease in inflation

b. An increase in unemployment

c. A decrease in unemployment

d. An increase in inflation

7. Disposable income is:

a. The amount of income households save.

b. The amount of income households waste.

c. The amount of income households have after paying taxes.

d. The amount of income households pay in taxes.

8. Supply-side economics:

a. Focuses on demand.

b. Focuses on the incentives created by taxes.

c. Focuses on the incentives created by spending.

d. Focuses on equilibrium.

9. Government borrowing:

a. Crowds out public investment, because it increases the interest rate.

b. Crowds out public investment, because it decreases the interest rate.

c. Crowds out private investment, because it increases the interest rate.

d. Crowds out private investment, because it decreases the interest rate.

10. The national debt (public debt) is:
a. The sum of all the government’s borrowing.

b. The sum of all private borrowing.

c. The annual shortfall between government revenues and spending.

d. The annual surplus between government revenues and spending.

Answer Key

1. D

2. C

3. C

4. C

5. B

6. D

7. C

8. B

9. C

10. A

